+8 -6 1 scores -8 =22
; 3.5 == B
AR R




High

Arousal
of Interest
and Attention

Low

g E
— e g N —
s 2 g , B
=1 ad —
g = Ez g =
s _ I §E & =
[ ise 2
El |352% N g
el 2] E <, Q= .-g
2 g £ NG g
2 £ 1) B,
M A £
Resultant Effects of 3
Increasing Age £

and Viewing Experienceon
Location of Curve

T Stimulus perceived as: I
Familiar............c........... Moderately Novel........cccooveeeeninnin Novel
Simple....ovviiniiinin of Intermediate Complexity.................. Complex
WhOliStiC. . vvveverevrnernrranneninn Integratable............ccoeeennine Incongruous
Redundant.................... Somewhat Regular................... Inconsistent
Repetitive......ooooevinneennnd Partially Ordered.................. Unpredictable

Expected.....ccovvvnivininninnnie. Recognizable...........occeevinnin Surprising




